
  Standard Errors and Critical Differences:                                                                   

Estimate of S.E. of difference between two A level means = 
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Estimate of S.E. of difference between two A level means at the same level of B means     
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Estimate of S.E. of difference between two B level means at the same level of A means    
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Critical difference is obtained by multiplying the S.Ed by t5% table value for respective 
error d.f. for (i) & (ii).  For (iii) & (iv), as the standard error of mean difference involves 
two error terms, we use the following equation to compute the weighted t values: 
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where ta, tb, and tc are t-values at error d.f. (Ea), error d.f.(Eb) and error d.f.(Ec) 
respectively. 
 
 


